TURE				
1				
DESCRIPTION	*	BASIS OF	* ALPHAGRAPHICS	*
	*	AWARD	* Dallas, TX	*
	*			COST *
ELECTRONIC PREPRESS:	*		*	\$0.00 *
Trim/Page-size unitper trim/page-size unit	*	32	* No Charge	\$0.00 *
	*	32	* No Charge	\$0.00 *
	*	2	* \$75.00	\$150.00 *
PRINTING AND BINDING:	*		*	\$0.00 *
Printing in black inkper trim/page-size unit	*		*	\$0.00 *
	*	32	* \$315.00	\$10,080.00 *
	*	192	* \$58.93	\$11,314.56 *
PAPER:	*		*	\$0.00 *
White Newsprint (30 lb)per 1,000 leaves	*	96	* \$46.87	\$4,499.52 *
ADDITIONAL OPERATIONS:	*		*	\$0.00 *
Fold newsletters from	*		*	\$0.00 *
11 x 17" to 8-1/2 x 11"per 1,000 newsletters	*	24	* No Charge	\$0.00 *
Packing and sealing shipping containersper container	*	50	* \$15.00	\$750.00 *
	*		*	\$0.00 *
	*		*	\$0.00 *
CONTRACTOR TOTALS	*		*	\$26,794.08 *
DISCOUNT	*		* 0%	\$0.00 *
DISCOUNTED TOTALS	*		*	\$26,794.08 *
	ELECTRONIC PREPRESS: Trim/Page-size unitper trim/page-size unit Content proofsper trim/page-size unit System Timeworkper hour PRINTING AND BINDING: Printing in black inkper trim/page-size unit Makeready and/or setup Running per 1,000 copies PAPER: White Newsprint (30 lb)per 1,000 leaves ADDITIONAL OPERATIONS: Fold newsletters from 11 x 17" to 8-1/2 x 11"per 1,000 newsletters Packing and sealing shipping containersper container CONTRACTOR TOTALS DISCOUNT	*ELECTRONIC PREPRESS:*Trim/Page-size unitper trim/page-size unit*Content proofsper trim/page-size unit*System Timeworkper hourper hour*PRINTING AND BINDING:*Printing in black inkper trim/page-size unit*Makeready and/or setup*Running per 1,000 copies*PAPER:*White Newsprint (30 lb)per 1,000 leaves*Fold newsletters from*11 x 17" to 8-1/2 x 11"per 1,000 newsletters*Packing and sealing shipping containersper container*CONTRACTOR TOTALS*DISCOUNT	*AWARD**ELECTRONIC PREPRESS:*Trim/Page-size unitper trim/page-size unit*32Content proofsper trim/page-size unit*32System Timeworkper hourper hour*2PRINTING AND BINDING:*Printing in black inkper trim/page-size unit*Makeready and/or setupper hour*32Running per 1,000 copiesper trim/page-size unit*Makeready and/or setupper 1,000 leaves*96ADDITIONAL OPERATIONS:*Fold newsletters from*11 x 17" to 8-1/2 x 11"per 1,000 newsletters*Yacking and sealing shipping containersper container*Xontractor TOTALS*Your CONTRACTOR TOTALS*Your CONTRACTOR TOTALS*Your CONTRACTOR TOTALS*	*AWARD*Dallas, TX***WINIT RATEELECTRONIC PREPRESS:***Trim/Page-size unitper trim/page-size unit*32*No ChargeContent proofsper trim/page-size unit*32*Printing in black inkper trim/page-size unit*2\$75.00PRINTING AND BINDING:***Printing in black inkper trim/page-size unit***Makeready and/or setupper trim/page-size unit***Makeready and/or setupper 1,000 leaves*192\$3315.00Running per 1,000 copiesper 1,000 leaves***Fold newsletters from****11 x 17" to 8-1/2 x 11"per 1,000 newsletters*24No ChargePacking and sealing shipping containersper container**<

	1				Т
		 			ļ
					1
					+
					+
		 			+
	ļ				
					1
					1
					1
					1
		 			+
					-
	$\left - \right $	 			+-
					+
			l		+
					+
		 			+
		 			+
		 			ļ
					T
					1
					1

GRAFIKSHOP		*			*			
Houston, TX		*	GPO ESTIMATE		*			
	COST	*		COST	*	 		
UNIT RATE		*	UNIT RATE		*	 		
¢0.00	\$0.00	*	<u> </u>	\$0.00	*			
\$8.00	\$256.00	*	\$8.00	φ 2 00.00	*			
\$5.00	\$160.00		\$5.00	\$160.00			 	
\$40.00	\$80.00	*	\$57.50	\$115.00	*	 		
	\$0.00	*		φ0.00	*	 		
	\$0.00	*		\$0.00	*	 		
\$20.00	\$640.00	*	\$20.00	\$640.00	*			
\$25.00	\$4,800.00	*	\$39.46	\$7,576.32	*	 	 	
	\$0.00	*		\$0.00	*	 	 	
\$10.00	\$960.00	*	\$28.43	\$2,729.28	*			
	\$0.00	*		\$0.00	*			
	\$0.00	*		\$0.00	*			
\$5.00	\$120.00	*	\$5.00	\$120.00	*			
\$3.00	\$150.00	*	\$9.00	\$450.00	*			
	\$0.00	*		\$0.00	*			
	\$0.00	*		\$0.00	*			
	\$7,166.00	*		\$12,046.60	*			
1%	\$71.66	*	0%	\$0.00	*			
	\$7,094.34	*		\$12,046.60	*			
	······			·····				
	AWARDED							
					1			

	1			NO.	1	1	
					1		
 					ļ		
 			 	au			
					1		
		ļ	 		ļ		
				1	İ	1	
					ļ		ļ
				1	1	1	

			1		1	1		1
1			1		1			1

		1			1		1	1
						l		1
0.0000000000000000000000000000000000000								
	 		 			1		1
	 		 	[
			 			l		<u> </u>
			 					1

							1	1		1
										1
 1	1	1	l	1	1	1	1	1	I	1

						1	1
			 			-	
			 			· [· · · ·	
			 			-	
	 		 		 		Į
						-	
	 <u> </u>		 			-	
	<u> </u>		 				
						-	[]
	 <u> </u>		 		 		
L		I		1		1	,

 <u></u>	 	 	
 ļ			